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= - = 33 813 RIA (A) B) | (a-p) & & = J(ed: )

SR -LRIUNEES 3,960,000

-JIEHAHE 5,000,000

JI8l0 -JIEF 89| 10,000,000

—BFEZ XA 22,000,000

SR  -SAHEHII 10,000kg 1,320,000

=2, 82 ulY FIIAS 53 2,500,000

-D2UH19 HE HSE(BHsS) ASZHl 108 3,900,000

=2 28 2 HaA 10,000,000

-=3 0l& X OlAtA 2IHI 50,000,000

-=2 2 H2 THHHX OlAF &I 20,000,000
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-S 2 HH () 28,320,000

-EA2SHI(HYHY) 13,200,000

_36_




<

A - HZE o

<X &>

o o o o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o o o o
e e e 2 9 e e e e e e e 9 e 9 9 <
o o o o o o o o o o o o o o o o o o o
o Yo} o o o o o o o o o o o o o o o o o
® a <@ <9 <9 < e Qe e e e N 9 9 9 9 <
— — — [T} o N~ [ee] N~ ™ Yo} o Yo} (o] o o [aV] [{e] o —
(V) — <t w [{e] ™ (V) [T} —
oF
m..m I o Rt o
wm & i =
s & o= = 0 o
~ - ]Iz ® 0 B = iy
= K- ol 0 N "
- = U 0 RM
&l OF ™ RO = — A
nJ — el ~ il H = RO
) o 3 ® W Ar E 1 =
o R o & 3 > o = Mo ul
H o Ko R m I o A0 S om owoy
- o - = - a @™ ur ¥ 8" ~ - A
[ ) & oK o ™~
- o 05 = Mog e g oM T R W B D
< aK =z ® = 3 m w % M 3 B O T
Mmoo 5w <o il T H o= ph
= A o n 0 3 W ¥ o @ I M_ Sk B 3
K4 & DM ko i Ww <I Ww = H B W o, »n § <X W T
G AL O I R I I B R B~
or
A A E] A A oA
ok i 20 i EU ¥
o ~ 0 ~ N
o
Mg
< |
5T <<
Ko —
ar m
% >
— <
=i B
K]
00
ar m
| >
- <
MuA\ 3
K+
% o
[ Ye)
IF=
p——4
-
8
I g
W= 3
Ul0 7ot
Es)
3
(o)
M= -
= >
E_Q 2
ujo
=)
or iy
00
Yo}
o
Y
or
00
e
Al

_37_



AE - HlE 0l &A

<X &> (ctof @ d8)
& = S=3 | HIS=E3 | uedad |[FFous gxoge| (A2 L =2 o (o9l - s
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JlEln —AEw 4,000,000

-JIEH 2 24| 20,000,000

-€4 7,300,000

-5t E 1,500,000

“HHAAAE S 3,500,000

-3 =0 1,000,000

-tiets=224, 0I0IX 2=l 10,000,000

-XISAte g8 &3l 2,000,000

wWRY -WFHEZD(L2X) 28 5,000,000

-WAMSS A (stolEgey) 23 3,500,000

SR -YEZ0 AN 1,000,000

FE2e -dANE B3 350,000

HMNS - HS0HH0 ARAYIIS B8 S 30,000,000

4236 3l 2ldl 79,740 3,000 0 82,740 82,440 300

SRN -HIFRAN JREAZAH 2,400,000

SOt S -WZAE 23 23 1,400,000

-d34 3 23 280,000

AZIA -2 AE 23 2| 23] 1,600,000

220 -wZAE23E 180],28)] 800,000

SEEE -UZAMES 23 640,000

NESX-w2 A 2IH 1,280] 1,200,000
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AR -W 2 AFE 23] 23] 880,000
DI E (- - ZAIE 2l 23] 600,000
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SHMA -nZAE22 1,250 520,000
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HECIXH - A 2l 3] Al 23] 800,000
FEelll-uBAg2ds dd 1,257 380,000
HIACQITH -18t0],250] 3l2ldl 800,000
AEOLONL-81 21l (18:0])(28D]) 800,000
ITHIZLI: -W 2 AL 23] 23] 800,000
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SOt = -312/dl 23] 1,160,000
ASSE MUY SARE 22l 23 1,360,000
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HESN -4ty sAd 3 2] 23] 1,400,000
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W2 st 6,550,000
£ 4 12,500,000
St -SSR BEFY 10,500,000
Ean “HWIIE A 18,300,000
WA FEFH OHMA 10,000,000
“JIEF W LS ALHI /&l A 3,000,000
4238 Wl 0 1 0 1 9,161 A9,160
&) < WHl>
- EX 1,000
4300 A 25HM 4,911,417 8,712,180 0| 13,623,597 13,355,978 267,619
o | 100, 150 0 0 100, 150 100, 150 0
4311 A 2d| 88,500 0 0 88,500 88,500 0
-st= 0l Y| 37,500,000
928 W HE N LI 48,000,000
-JI Bt I 3,000,000
4312 A2 22| 11,650 0 0 11,650 11,650 0
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